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Example 1:
A Company has two investment projects. And the following
information about the two projects:

Information Project Y Project Z
Investment Cost 500000 600000
Revenues:

Year 1 100000 300000
Year 2 100000 250000
Year 3 100000 150000
Year 4 100000 100000
Year 5 100000
Year 6 100000
Year 7 100000
Year 8 100000

Required: Calculate the Accounting rate of return (ARR) for
the two projects and which project is the best if you know that
the required rate of return is 20%

Solution:
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Project (Y):
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Net Accounting Income
ARR = o
Investment Cost

= 100000/500000 =20 %0
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Project (Z) :
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300000+250000+150000+100000 = 800000
800000 /4 =200000 %

Net Accounting Income
ARR = -

Investment Cost

= 200000/600000 =33.33%
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Projects ARR Required | Acceptor | Ranking
dilad) Jaxa Rate of Refuse
Gile g pdiall | pilaall Return 3 Jsall G Al
Gothall Juall| 28
Project Y 20% 20% Accepted| Second
Jsdha (Al
Project Z | 33.33% 20% Accepted First
Jgsde Js¥!

4 isaial




Example 2 :

A Company has three investment projects as follows:

Data Project A Project B Project C
Investment Cost 800000 1000000 600000
Revenues:

Year 1 100000 300000 200000
Year 2 150000 400000 200000
Year 3 200000 200000 200000
Year 4 300000 300000 200000
Year 5 250000 300000 200000
Year 6 200000 | = --—m--- 200000

The required rate of return is 30 %

Required: Evaluate the three projects by using ARR method.
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Project (A):

100000+150000+200000+300000+250000+200000
INCOME aVerage = ----==-===mmmmmm e oo oo

= $ 200000
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Net Accounting Income
ARR = s
Investment Cost

= 200000 / 800000
=25%

Project (B) :

300000+400000+200000+300000+300000

INCOME AVErage = ---=n=-=mmmmmmmmmmmm e oo
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= $ 300000

Net Accounting Income

ARR = oo
Investment Cost
= 300000 / 1000000
= 30%
Project (C):

Income average = $ 200000

Net Accounting Income
ARR = —mmmm e
Investment Cost
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= 200000 / 600000

=33.33%
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Project A 25% 30% Refused | --------
258
Project B 30% 30% Accepted | Second
Jgaba i)
Project C | 33.33% 30% Accepted First
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